et rHE ET S RIAETE T 1EC
LR T E ] i BEE] i | I TS )
e ] 5 4 3 2 1 || SER L5 3 2 1 [menE] ¥y
1. S5 AR > R B FSAVC O ET A | 36 | 3 2 0 0 0 [4.83 | 34 3 0 0 0 [4.76
2. BT 0P =y SFROFEEST, LFTDHPYRTVTTD, 31 3 7 0 0 0 4.59 26 10 0 1 0 4.32
[3. BEORINIDAD TV, 32 | 4 4 0 1 0 [461 ] 20 7 [[12 ] 0 2 0 [4.05 | maz
1. DL BB ) CI A, 33 | 3 5 0 0 0 [468 | 27 | 5 7 1 1 0 [4.37
5. Pl G IEL AR —T - AABR IS L@ B T A | 35 | 3 3 0 0 0 478 33| 5 3 0 0 0 473
6. AU HIBIL CRWEEERE LV ET 2, | 34 | 3 4 0 0 0 [4.73 1 24 [ 8 9 0 0 0 [4.37
T AR DRI CE £ LT 30 3 7 0 1 0 [4.49 | 23 7 10 i 0 0 [4.27
8. DRI Lo VIRV EL 2D 34 | 4 3 0 0 0 14761 26 | 3 11 0 1 0_[4.29
S 2 s i SIS ESiRIA A4 SR | LEC 81
Al TR A i BEE] 4 | i BRE] 11 "
& 5 5 4 3 2 1 [fEaE] B 5 4 3 2 1 [fEnlE] )
1. I A R EDSEMSATOET 2 | 36 | 3 2 0 0 0 [483 ] 36 | 3 2 0 0 0 [4.83
o BT B U= SRRONE Ty, XFEBIORT T, | 35 | 2 4 0 0 0 476 | 36 | 2 3 0 0 0 |4.80
3. REDRIZDDD T, 35 | 3 3 0 0 0 (478135 [ 4 2 0 0 0 [4.80 PR3
4. FEOMET EAT#E T A, 36 2 3 0 0 0 [4.80 | 36 3 2 0 0 0 [4.83
5. ab i b iEL A —T - ARBRITE S L@ B T A | 33 | 5 3 0 0 0 473135 [ 3 3 0 0 0 [4.78
6. A RNHIBIL CRWZERZEEVET 2 | 36 2 3 0 0 0 [4.80 | 37 2 2 0 0 0 [4.85 R4
T ORI CEE L0 34 3 3 0 1 0 [4.68 | 33 4 4 0 0 0 [4.71 —e—HIER
8. ZOREICL S IBRDFAAEL T, 36 3 2 0 0 0 483 | 37 2 2 0 0 0 [4.85 il ——EMER
P— ES S S IAETE G I TEC L
7 TH i R I S Zh ERE] o 5
e ] 5 4 3 2 1 || SER L5 4 3 2 1 [menE] ¥y
1. 2 AR > R D FSAVC O ET 2, |8 0 1 0 0 0 [478 ] 8 0 1 0 0 0 [4.78
2. BT 0P =y SFROFEEST, LFTDHPYRTVTTD, 7 0 2 0 0 0 4.56 8 0 1 0 0 0 4.78
[3. BEEORINIDAD TV, 7 0 2 0 0 0 [456 ] 8 0 1 0 0 0 [4.78 | mz gy 3
1. DL BB e CY A, 9 0 0 0 0 0 [5.00] 8 1 0 0 0 0 [4.89
5. APl )y IEL AR — b SRR e s B T A% | 9 0 0 0 0 0 [5.00] 8 0 0 1 0 0 467
6. A ANCHIBTL CRWRELEEET . | 8 0 1 0 0 0 478 8 1 0 0 0 0 [4.89 A
T B EONE IR CEELTD 7 0 2 0 0 0 [456 | 9 0 0 0 0 0 [5.00 e IR
8. ZOREIIL S IRDFAAEL T, 9 0 0 0 0 0 [5.00] 9 0 0 0 0 0_[5.00 iy —e—#HiER |




